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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15
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P3-15
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large discrepency for begining water status (330:27.0), set to 330 ml.
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P3-15_0, Day=70 (2025-06-09)
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M_W
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T
910

T
915 920
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P3-15

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:55 283 150.0 2.888 BE| {RRi%e06:55 Bz (REERSE)
07:25 283 150.0 2.888 BE| 1Ri&e07:25 B3 (REERSE)
07:55 283 150.0 2.888 RS {Ri&e07:55 BHah (REAMERSE)
08:25 283 150.0 2.888 RS {RRi%e08:25 Bz (REEREE)
09:00 283 150.0 2.888 5| {Ri%@09:00 Bz (REEREE)
09:35 283 150.0 2.888 RS {Ri%&e09:35 Bzl (REERSE)
10:15 283 150.0 2.888 RS Rige10:15 Bz (REAEHE)
11:00 283 150.0 2.888 S| Ri%e11:00 Bz (REERR)
11:40 283 150. 0 2.888 5| {BRige11:40 B3 (RPERKSE)
12:15 283 150.0 2.888 B Rige12:15 Bz (REAERE)
12:50 283 150.0 2. 888 B Rige12:50 Bz (REAERSE)
13:20 283 150.0 2.888 el Rige13:20 Ba) (REAEHSE)
13:50 283 150.0 2.888 RSl Rige13:50 Bz (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 BE| Rige14:50 Ba) (REAEESE)
15:20 283 150.0 2.888 BE| Rige15:20 Ba (REAERE)
15:55 283 150.0 2. 888 BE| Rige15:55 Bz (REAERSE)
16:35 283 150.0 2. 888 el {Rige16:35 Bal (REAEESE)
17:30 283 150.0 2.888 el Rige17:30 Bal (REAEHE)
23t 5377.0 (19%) 2850.0 3ESFHKEC: 2080.0, PH: 5.6

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (369:48.0), set to 369 ml.
[BI;&EC 5527.0 K5, EILFARECAER HitER

BEEIRECE (1927.0 vs 5527.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=69 (2025-06-08)

150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————f——————F—= =]
VI, VO &RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
2600 (2646 [ 3000
100 + 2500 241
899 L 2000
50
- 1000
20 Warning: lcol [FVI',| "FVO’'] missing 00
0 + - 06
000 | M= VI — ME P
FRV maxM | 34
150_ ________________________ \ PN B | N Y | - \\ k e A S E S S
g i - \ : 32w
100 I I =
| | | [ HHE N NN N L 30
50 | EEEEEEEEEEEEEN
| N EEEEEEEEEEENE N | 98
- B EEEEEEEERENE N
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 ¢
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 7
Bylnit @D71 02:03: ET=2620 Fg=3300.0 Ro=651.0 ?4000
400 - !
1
1 ® b4 e & 4. - 3000
1
1
200 4 I pp— § L 2000
1 I
1
- 1000
1
o o—o \\\
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
s | B5s | B5s | B5 | Bs | B [ BF | B5 | Bs | BR B B B B B B B B B B B B B 5| 4000
400 - 1
ByEt @D69 19:06: ET=2463 Fg=2646. 0 Ro=nan : | 3000
200 _ —4 . L 2000
| _—— | 1
: - 1000
o —6— 6 & —© SS—— L
0 —a - & & o 1 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g | BB | BB i | B | g | BB g | BB | B i 5 5 5 i 5 5 5 i 5 5 |ZZ || ZE | 4000
400 - i
ByWoFv i@Dﬂ 02:03: ET=2241 Fg=2850.0 Ro=548.0 | 3000
1
200 - : - 2000
1
| - 1000
—o—4-
1.0 Oﬂ ] > 0
0osl B | B | S
0.6 -
0.4 1
0.2 A
0.0
1500 4 _— 4
[ ] | _obs
—@— PPFD obs
60
40 - RH
[ ] RH_obs
[ ) RHo_obs
20
e v {
T
20 22 24

—~

d-1

£

FRV (

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=385, FV0=0 m=415, FV0=0 m=495, FV0=0

—o— ME 34 1 —e— ME 34 1 —8— ME
30. 0 -
29.5 A 331 33 4
29.0 - 30
32 -
28. 5 -
31
—e— MNE | 2804 317
28 - - :
T T T T T T T T T T T T T
400 600 800 1000 385 390 395 415 420 425 495 500 505
m=550,m FV0=0 m=590,m FV0=0 m=625,m FV0=0 m=655,m FV0=0
—o— ME 341 —— we | 3407 —o— ME | 3404 —o— ME
33.5 -
331 33.5 -
33 N 33 0 -
33.0 -
32.5 -
32 _
32 - 32.5
32.0 -
32.0 -
i 31.5 -
3 31 4 31.5 A
31.0 -
T T T T T T T T T 31 ° 0 B T T T
550 555 560 590 595 600 625 630 635 655 660 665
m=690,m FV0=0 m=720,m FV0=0 m=750,m FV0=0 m=780,m FV0=0
34
—— ME | 3404 —o— ME 34 —e— ME | 3404 —o— ME
33.5 A 33.5 -
33
33.0 A 33 - 330 -
32.5 -
30 4 32.5 -
32.0 - 30
32.0 -
31.5 -
31 31.5 -
31.0 - 31
690 695 700 720 725 730 750 755 760 780 785 790
m=810,m FV0=0 m=840,m FV0=0 m=870,m FV0=0 m=900,m FV0=0
34.5 -
34.0 - —8— ME | 440 —— ME | 4, —o— ME —— ME
34.0 -
33.5 1 33.5 - 335
33.5 -
33.0 - _
33.0 33 0 -
33.0 -
32.5 A 32 5 4
' 2.5
32.5 32.5 -
32.0 - 32.0 -
32.0 - 9.0
31.5 - 31.5 -
31.5 - 315 -
810 815 820 840 845 850 870 875 880 900 905 910



34.

34.

33.

33.

32.

32.

31.

38.

38.

37.

37.

36.

41.

40.

40.

39.

39.

41.

40.

40.

39.

m=935, FV0=0

54

0 -

—0— ME

9&0 9&5
m=385,n FV0=0

54

0_

360 365
m=590,n FV0=0

5 4

0_

—o— MW

555 660
m=720,n FV0=0

54

0 -

-— MW

i
7

725 730

34.

34.

33.

33.

32.

32.

41.

40.

40.

39.

39.

41,

40.

40.

39.

41.

41.

40.

40.

m=970, FV0=0

—o— ME

9%5 9é0
m=415,n FV0=0

450 4é5
m=625,n FV0=0

—— MW

650 Gé5
m=750,n FV0=0

625

-o— MW

750 755 760

34.

34.

33.

33.

32.

41.

40.

40.

39.

41.

40.

40.

41.

41.

40.

m=1005, FV0=0
5 —e— ME
0 -
5 -
0 -
5 -
1005 1010 1015
m=495 m FV0=0
—— MW
0 -
5 -
0 -
5 -
495 500 505
m=655,m FV0=0
—— MW
0 -
5 -
0 -
655 660 665
m=780,m FV0=0
—— MW
5 -
0 -
5 -

780 785 790

T T T T
400 600 800 1000

m=550,m FV0=0
—o— MW
40.5 A
40.0 A
39.5 -
39.0 A
T T T
550 955 560
m=690,m FV0=0
41.0 A . MW
40.5 A
40. 0 -
39.5 -
690 695 700
m=810,m FV0=0
42.5 A - MW
42.0 A
41.5 A
41.0 A
810 815 820




m=840, FV0=0 m=870, FV0=0
42.5 4 - 43.51 =
43.0 4
42,04
42.5
41.5 4
42.0 4
41.0 A 41.5 +
T T T T T T
840 845 850 870 875 880
m=970,m FV0=0 m=1005m FV0=0
45.0
44.5 1 —— MW —— MW
44.5
44.0 4
44.0 1
43.5
43.5 1
43.0 4
43.0 1
42.5
T T T T T
970 975 980 1005 1010 1015

m=900, FV0=0

—— MW
44.0
43.5
43.0
42.5
42.0
T T
900 905 910

m=935, FV0=0
44.5 o W
44.0 -
43.5 -
43.0 -
42.5 -
T T T
935 940 945
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P3-15

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

06:50 283 150.0 2. 888 BE| 1Ri%e06:50 B3 (RF{EEEE)
07:25 283 150.0 2. 888 RS {Ri&e07:25 Bz (REERSE)
08:00 283 150.0 2.888 BE| {RRi%@08:00 Bz (RFEAERHEE)
08:35 283 150.0 2. 888 BE| {Ri%e08:35 Bz (REAMEREE)
09:05 283 150.0 2.888 S| 1Rige09:05 Bah (FREEESE)
09:45 283 150.0 2.888 BE| {Ri&e09:45 B (REAEHE)
10:30 283 150.0 2. 888 e {Ri8@10:30 Bz (REAERSE)
11:20 283 150.0 2.888 B Rige11:20 Bz (REAERSE)
12:00 283 150.0 2.888 el Rige12:00 Bz (REAEHSE)
12:40 283 150.0 2. 888 el Rige12:40 Bz (REAERSE)
13:10 283 150.0 2.888 S| 1Rige13:10 Bzh (REEESE)
13:40 283 150.0 2.888 S| Rige13:40 Bal (REAEHE)
14:10 283 150.0 2.888 B Rige14:10 Bz (REAERE)
14:40 283 150.0 2.888 S| Ri%e14:40 Bz (REAERESR)
15:10 283 150.0 2.888 el Rige15:10 Ba) (REAEHSE)
15:45 283 150.0 2.888 BE| Rige15:45 Bz (REAERE)
16:25 283 150.0 2. 888 S| 1Ri%e16:25 B (RF{EREE)
17:15 283 150.0 2. 888 B Rige17:15 Bzt (REERSE)
24it]5094.0 (18%%) 2700. 0 3ESFHKEC: 2080.0, PH: 5.7

FEREHEME STEAEARS (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (371:33.0), set to 371 ml.
BEEIKRECE (1877.0 vs 5200.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=68 (2025-06—07)

150 Fm———mmF——————F——————F——————F——————F-—————F-—————Fe—————F———— ===
VI, V&¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3128
F 3000 ~
100 + 2500 550 T
2200 151 110 ©
- 2000 \_E/
50 z
L 1000 L&
48 Warning: lcol ['FVI', '"FVO'] missing 20
0 + -0
200 5 ==V —— ME P34
FRV maxM
150 fo—————F=—————f————— o = ——dhaN N ] 32
I Y
100 - = S —— — — — — — — F30 =
N AR EIAAN >
1.0 26
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.7 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D71 02:04: ET=2353 Fg=3000.0 Ro=599.0 4000
. C
400 - 3000 =
N
- 2000 £
200 7 -
L
- 1000 §
0 T - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
R | B5 [ B | B | AR | A5 | A5 | B | BR [ HR B A I LT B B B B B B B B B B )
400 1 £
ByEt @D68 19:07: ET=2418 Fg=2550. 0 Ro=nan - 3000 g_
<
- 2000 £
200 7 -
L
- 1000 §
p— S =] S —©
0 — o S __& __& __ _& 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES 4000
B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A )
400 - I £
ByWoFv I@D71 02:04: ET=2110 Fg=2700.0 Ro=518.0 - 3000 g_
<
1 —
I - 2000 £
200 T : —
L
! - 1000 §
p— S & S —©
1.0 - =\ y e e 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 4 M8 5 5 i 5 5 5 i 5 5 G A B 5 5 A B 5 G A B 5 G A
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_ A
[ ] | _obs
—@— PPFD obs
3 4 e v f
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—O—

M_E
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T
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860
m=585,n FV0=0

T
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32 -
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30 A
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—0—

M_E

560 565
m=705,n FV0=0

—0—

M_E
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7%0 7%5
m=835,n FV0=0

—O—

M_E

835

840 845

m=435, FV0=0
—e— ME
31 4
30 -
29
28 -
T T T
435 440 445
m=615,m FV0=0
-o— ME
33 4
32 4
31 4
30 -
T T T
615 620 625
m=740,m FV0=0
—o— ME
33 4
32 -
31 4
740 745 750
m=865,m FV0=0
34.0 - —o— ME
33.5 -
33.0 -
32.5 -
32.0 -
31.5 -
865 870 875
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33.

33.
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32.

31.
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33.

33.
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33.
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31.

m=470, FV0=0
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m=645,n FV0=0

470

—o— ME

7

GéO 6%5
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34.

33.

33.

32.

32.

31.

36.

36.

35.

35.

34.

39.

38.

38.
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37.

36.

40.

40.

39.

39.

38.

38.

m=965, FV0=0

- ME

9%0 9;5
m=470,n FV0=0

w

M_W
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4;5 4é0
m=645,n FV0=0

—o— MW

w

650 665
m=775,n FV0=0
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w
i
i
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780 785
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40.

39.
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38.
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37.

41.
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40.
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39.

39.

m=1005, FV0=0

—o— ME

10H0 1615
m=505,n FV0=0

T
1005

—— MW

5%0 5%5
m=675,n FV0=0

—— MW

6é0 6é5
m=805,n FV0=0

675

-— MW

805 810 815

32 -

400

T
600

860
m=585,n FV0=0

T
1000

35.

35.

35.

35.

34.

34.

—0—

M_W

585

590
m=705,n FV0=0

T
595

40.5

40.

39.

39.

38.

38.

—o— MW

P4

710
m=835,n FV0=0

715

41.5 -

41.0

40.

40.

39.

-o— MW

835

840

845

35.

34.

34.

33.

33.

32.

38.

37.

37.

36.

36.

35.

35.

40.

39.

39.

38.

38.

37.

42.

41.

41.

40.

40.

m=435, FV0=0

M_w

440 445
m=615,m FV0=0

650 6é5
m=740,n FV0=0

—o— MW

740

7&5 750
m=865,n FV0=0
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m=895, FV0=0
—— MW

42.5 -
42.0 -
41.5
41.0 A
40.5

T T T

895 900 905

m=930, FV0=0
43.0 —— MW
42.5 A
42.0 A
41.5 A
41.0 A
T T T
930 935 940

m=965, FV0=0
—— MW

43.0
42.5 -
42.0
41.5

T T T

965 970 975

m=1005, FV0=0

—— MW
43.0 A
42.5 -
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41.5 A
T T T
1005 1010 1015
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P3-15

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:40 283 150.0 2. 888 BE| {Ri%e06:40 Bz (REERESE)
07:10 283 150.0 2.888 el Ri&e07:10 Bal (REAEESE)
07:40 283 150.0 2.888 RS {Ri&e07:40 B (REAEHE)
08:25 283 150.0 2. 888 RS {RRi%e08:25 Bz (REEREE)
09:00 283 150.0 2.888 A5 {Ri%@09:00 B (REERER)
09:35 283 150.0 2. 888 B {Ri&@09:35 Bz (REERESE)
10:20 283 150.0 2.888 BS| 1Ri%e10:20 B (GREMEEEE)
11:05 283 150.0 2.888 S| Ri%e11:05 Bz (REERRSR)
11:45 283 150.0 2.888 B Rige11:45 Bz (REAERSE)
12:20 283 150.0 2.888 S| Rige12:20 Bz (REAERE)
12:55 283 150.0 2. 888 e Rige12:55 Bz (REAERSE)
13:25 283 150.0 2.888 el Rige13:25 Bal (REAEHE)
13:55 283 150.0 2.888 S| Rige13:55 BHa (REAEHE)
14:25 283 150.0 2. 888 e Rige14:25 Bz (REAERSE)
14:55 283 150.0 2.888 sl {Rige14:55 Ba) (REAEESE)
15:25 283 150.0 2.888 BE| Rige15:25 Ba (REAERE)
15:55 283 150.0 2. 888 BE| Rige15:55 Bz (REAERSE)
16:30 283 150.0 2. 888 el Rige16:30 Bal (REAEESE)
17:15 283 150.0 2.888 BE| Rige17:15 Bz (REAERSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 5.8

FEREHEME STEAEARS (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (250:71.0), set to 250 ml.
#E[E]RECE (1820.0 vs 5037.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=67 (2025-06-06)

150 Fo—————F——————F——————F-—————F-—————F——————F——————F-—————f——————f——————F-————-f—— e
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET
709 I 3000
100 + 2208 9900 430
1800 P79 [ 2000
50
- 1000
60 Warning: lcol [FVI',| "FVO’'] missing 48
0 -
( mm v — ME 485
200 FRV maxM
- - 30
________________________________________ - N R e ) Iy Bpgnyn o — "
N | ] Iiiiiiiiiiii —252
- 20
1.0 I
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
400 . Bylnit @D71 02:04: ET=2376 Fg=3000.0 Ro=588.0 4000
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